IMPORTANT!

Installation procedure has changed.

It is critical to cable life to read and follow
installation procedure. Review cable
checklist prior to starting cable installation.



Cable Installation Checklist

(use this form to confirm cable is installed correctly)

PEDAL END

[ cable wire was not bent when connecting the cable to the pedal.

[ cable is straight for minimum % inch past the end fitting, (Cable Installation, step 1 and 4, AREAS TO
PAY PARTICULAR ATTENTION TO, Recommended cable routing, WARNINGS)

0O Check with mower deck at mowing height and parking brake released.
O Check with mower deck in transport position (full up) and parking brake engaged.

[ cable is secured to foot deck to prevent bending at end fitting, (Recommended cable routing, SECURE
WITH CABLE CLAMP/ZIP TIE)

[ pedal height is set so pedal bottoms out on pedal stop, Test by putting full weight on pedal, pedal
should hit hard stop. NOTE: SE pedal with slot on side of pedal only, with flap in closed position; entire
head of clevis pin must be visible when looking through slot on side of pedal. (Cable Installation, step 2,
PROPER PEDAL HEIGHT)

[J Minimum %” of threads visible between rubber boot and jam nut 1.

[J Rubber boots is in place on cable fitting, (Cable Installation, step 3, MAINTAINING THE CABLE)

FLAP END
[ cableiis straight for minimum % inch past the end fitting, (Cable Installation, step 1 and 4, AREAS TO
PAY PARTICULAR ATTENTION TO, page 6 installation guide, WARNING)
O Check with mower deck at mowing height and parking brake released.
O Check with mower deck in transport position (full up) and parking brake engaged.
O Brass bushing is installed on flap end of cable.

[ Head of clevis pin is on spring side, cotter pin toward front of mower.

ROUTING
O cable is protected from heat of muffler, (Cable Installation, step 4, AREAS TO PAY PARTICULAR
ATTENTION TO)
[ cable bends not less than 6-inch radius, (Cable Installation, step 5, REFERENCE 6” RADIUS)

[ cable has enough freedom on flap end to travel with mower deck, (See recommended cable routing)

GrassFlap.com Phone: (502)594-3546



GrassFlap Cable Installation

WARNING: PROPER CABLE INSTALLATION AND MAINTENANCE
IS CRITICAL TO LIFE OF CABLE

1) Improper cable routing WILL cause failure, usually within ﬂ.’,/,,“m
the first month of use. The first 1/2 inch of cable conduit N

(black flexible part) must be straight in line with the end fitting. \ /

I Ul b .\M \‘\W\“\WM‘J-
N

Cable wire near ball must not be bent during installation. DO NOT BEND
Pedal End
(1 thread showing)
2) PROPER PEDAL HEIGHT: i oI oo set
1. Adjust pedal height so pedal bottoms out with full pressure to i pedal height:
prevent cable from carrying full weight of operator. Start with HH l/lslml\m

cable fitting as shown - adjust pedal end to raise pedal, adjust
flap end to lower pedal. Verify pedal height with flap in Flap E“d_

. (1 thread showing)
balance (half open) position. this side

o
| Eﬁmlmn\m

3) MAINTAINING THE CABLE:

1. Be sure the rubber boot is in place to keep dirt and water out of cable.

4) AREAS TO PAY PARTICULAR ATTENTION TO ARE:

1. Do not bend cable wire.
2. Make certain the cable is not in a bind when the deck is raised either manually
or when mowing.

3. Leave enough slack where the cable is tied to mower to keep out of the belts
for the deck to raise and lower without straining the cable.

4. Avoid direct heat on cable, do not route near muffler

5. Maintain recommended bend radius of 6 inches for all bends.

5) MINIMUM BEND RADIUS

\Reference 6" radl

GrassFlap.com Phone: (502)594-3546 2



SE, SED & SEL Pedal with Built In Stop

For video

showing howto = T
install cable on i

pedal scan using fj%;_,.

"
phone camera. SED (5D) Pedal SE (5) Pedal SEL (5L) Pedal
Step 1 .. Step 2
threa - I%
~J ‘*!Z. hread AN I‘%
Nut12$ f - e /I
[ €«

Pull rubber boot off of cable fitting and spin nut 1
off of cable fitting. Spin nut 2 onto fitting so one
thread is showing.

A) Slip cable wire into slot.

B) Spin nut 1 onto fitting to secure cable to pedal.
DO NOT OVERTIGHTEN NUTS.

C) Push rubber boot back onto fitting.

Step 3

Position removable clevis onto cable ball.

A) Position removable clevis on pedal with clevis slot

on cut out side of pedal.
B) Insert 1/4 pin with head on same side as clevis slot.

Q) Insert cotter pin and wrap around pin to secure.

Step 5

Secure with
cable tie

A) Once pedal is installed on mower attach cable clamp
or zip tie to secure cable.

B) Verify everything is in place and secure.

GrassFlap.com

Phone: (502)594-3546




SE & SEL Pedal with Full O

For video showing 31
how to install cable -I-EI-;E,’*IEI

on pedal scan using
phone camera. [EIZEEE

pen Position

Step 2

je— 1 threads

u
Nutlﬁ

Pull rubber boot off of cable fitting and spin nut 1
off of cable fitting. Spin nut 2 onto fitting so two
threads are showing.

Position removable clevis onto cable ball.

Rotate pedal pad to full open position. Position clevis
on pedal and insert %a inch clevis pin and cotter pin,
bend cotter pin around pin.

Step 5

WARNING: Cable
failure at ball will occur
if cable wire is bent
during install. Always
close pedal before
slipping wire into slot.

Rotate pedal pad to closed position and slip cable wire
into slot and put cable fitting into hole.

CAUTION: Always set

cable fitting as shown

Step 6

Secure with

@ cable tie

(A) Spin nut 1 onto fitting to secure cable to pedal. DO NOT OVERTIGHTEN NUTS. DO NOT RAISE PEDALTO

FULL OPEN POSITION TO DO THIS.
(B) Push rubber boot back onto fitting.
(C) Reconnect spring to base of pedal.
(D) Secure cable with cable clamp or zip tie.

GrassFlap.com

Phone: (502)594-3546




SE Pedal Location & Cable Routing

SE Pedal Cable Routing

on Stand-On
: <) Option 2 e
=EE | WARNING: £
First 12" after _
fitting must Option 3
be straight

Secure with
zip-tie

SE Pedal Cable Routing
on Zero Turn

Option 2
ﬁ)

/ WARNING:
First 12" after
fitting must

— | be straight
\ \ /
\~~~ __

Install Pedal

A) Mark and drill two 11/32" holes, if needed, for pedal
mounting bolts.

B) Tighten two 5/16” x 1” carriage bolts to secure pedal
assembly to mower deck.

Flap Connection:

A) Place 1/4” bushing in flap.

B) Slip clevis onto flap.

Q) Insert 3/16 pin with head
on spring side. - ‘\_

D) Insert cotter pin and bend”
around pin. 3

~~ _Cotter Pin
N
/(\
\
\

Pin Flap End

10-99-28 7

FLAP

connecTion Clevis Pin' ‘
10-99-22 % RSN

\ | \ o

\ FLAP CONNECTION

\ N —— e — //

/
r,
[
|

<. | WARNING: J
| First 12" after [__— 4
fiting must [_ o \Tiecable ;7 WARNING:
—~{ be straight | = © “down 4 First 2" after %
—= o1 © © J fitting must /
S =, be straight
U
[ | “\\
- (2]
=_
GrassFlap.com Phone: (502)594-3546 5



SEL Pedal Location & Cable Routing

\ %

©)
Py B
/)
( WARNING:
First 12" after
fitting must
! = | be straight

Install Pedal
A) Mark and drill two 11/32" holes, if needed, for pedal

mounting bolts.
B) Tighten two 5/16” x 1” hex bolts to secure pedal

assembly to mower deck.

==\ @
- ’: WARNING:
EIRNSES 4{(";“ . First V2" after
GEANS m'\‘;)‘ 2% | fitting must
o /\ \ be straight
———d | |

Ay _

WARNING:
First 12" after
fitting must
be straight !
1
|
] N
1 e\
| \ “~<\CotterPin  Flap Connection:
L4 B /{ A) Place 1/4” bushing in flap.
Bushing Cable AN B) Slip clevis onto flap.
Pin Flap End == ‘ \ Q) Insert 3/16" pin with head
10-99-28 5N \ on spring side.
: I D) Insert cotter pin and bend
316" | C 'l around pin. FLAP CONNECTION
Clevis Pin __— ' /
10-99-22 i -
% IR A S Zip Tie Cable
' ’ to Pedal
FLAP CONNECTION e
GrassFlap.com Phone: (502)594-3546 6



RE Pedal Location & Cable Routing

(N

Option 2

WARNING: |
First 12" after ="
be straight A) Mark and drill two11/32" holes, if needed, for pedal

Preferred locations for RE pedal assembly.

mounting bolts.
B) Tighten two 5/16” x 1” hex bolts to secure pedal
assembly to mower deck.

WARNING:
First 12" after
® fitting must
be straight

4

PEDAL CONNECTION

~

—_——

GrassFlap.com

SN
(K]“\ ~ T :\i\\\\ @
NG S/_’j== \\\\{\\\?\)\\(\‘\\\
i\ =S
/)\ 4\\\\\ ~~§/&i @/‘ 7
/ NS (e
/ s T o< s 7
{ (g / } <Zé\°\:i % ‘@
A N G2 ) =7 N
- 7 &7
AN (A
)?‘\\c/ N
D AN De="2 N WS _ <
/ /Al Nz Z <3 /f\/b:\\~\ \
(1] A b o) ) N WARNING:
ez N A B "
NS\ NN S 4\ PP First 12" after
- =—+ X
~" W1 fitting must
PR S . be straight
@ i g AN
¢ / \
XL > /I: N
/ \\
. / \
Pedal Connection: K N
A) Place clevis on cable ball /I - _\\ ~~< Cotter Pin
and squarely seat in L2 .
bottom of clevis. Bushi gbl N
. . 3
B) Insert 1/4” diameter pin. ushing L.able \

Pin Flap End <
10-99-28 ==X

Q) Insert cotter pin and wrap
around pin.

Flap Connection: 1o i s
A) Place 1/4"bushing in ﬂap.GeV'S Pin NN

B) Slip clevis onto flap. 10-99-22 “EET )
<) L“:igrfn/;i&“ with head FLAP CONNECTION

D) Insert cotter pin and wrap
around pin.

FLAP CONNECTION

Phone: (502)594-3546 7



